TARGET  To practise short division of whole numbers and decimals.
4451 = 7

Examples
Work out
&) 259 - 4

147 = 6
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@ 355+ 4
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@ 1941+-3 @ 180244
© 2646+7 @ 16098 + 6
© 4851+9 @ 24732+9
© 2896+8 @) 10052+ 7

Work out to two decimal places.

© 951-2 @ 3875+4
@ 2514+-4 @ 3195+6
@178-8 O 2964+5

®s873+5 @ 1428

@ Four friends share a bingo
prize of £750. How much do

they each receive?

@ Five identical crates weigh
134-3 kg altogether. How
much does one crate weigh?

@ One in every seven of the
20832 patients treated at

a hospital in one year has a
bone fracture. How many
patients were treated for

fractures?

@ In eight training runs Melissa

runs a total distance of
110 km. What is the mean
distance of her runs?

525.6 -+ 6 2791 = 4
635¢ 87-6 697-75
6)5 245 .36 4)2 73931 .3020
Work out Work out

@ 347139 @ 37023 -7

© 28356 - 6 @ 302:038 + 11

© 90468 + 12 @ 377658 + 9
Q 154736 8@ 112511 + 7
Work out to three decimal places.
© 26075 @ 31485+6
@ 2354+-8 @ 110128
@ 8373+-2 P3237+4
@ 26938 -4 @ 714865

Five identical steel bars weigh
78-84 kg altogether. How much

does each bar weigh?

® 39.88 litres of paint exactly fills
five equal sized pots. What is

the capacity of each pot?

@ A precision engineering firm is
required to cut a 16-5m length
of cable into 12 equal lengths
to the nearest millimetre. How
long should each length be?

€ Ajet flies 88-05 km in six
minutes. How far does it fly in

one minute?



